0 3.5.1 LeRplE TR~ FREL (3 fhw) (1/2)

B . ¥ T 1i# 5 1% A& 250 H2# R 1124 & 2555
2% 5/25 8/19 SUE 213 5/19 814 /10
s EY R ppay 0.1 0.00658 | 0.00020 | 0.00020 | 0.00091 0.00197 0. 00020 XD 0.00020 | 0.00019 0. 00015
s E RO A ppay - - - 0. 00020 XD 0. 00010 0.00021 XD 0.00021 | 0.00020 0. 00016
2§ R ppay - - - 0.00019 XD 0. 00010 0. 00020 XD 0.00020 | 0.00019 0. 00015
T FYEF po 1 0.0054 | 0.0147 | 0.0094 | 0.0258 0.0138 T.706-03 | 3.108-02 | 1.50E-02 | 5.50E-02 |  2.72E-02
FF T (o ) ppn - - - 0.00640 | 0.00640 0. 00640 6.55E-03 | 6.58E-03 | 6.88E-03 | 6.72E-03 |  6.68E-03
wF 0 (s o) pon - - - 0.00398 | 0.00398 0. 00398 3.80E-03 | 3.00E-03 | 4.08£-03 | 3.99E-03 |  3.97E-03
T ERF U EL LS ppn - - - 0.00267 | 0.00267 0. 00267 2.92E-03 | 2.04E-03 | 3.07E-03 | 3.00E-03 |  2.98E-03

], MY R pE 2@ ND &7 > AP H 2 2 iR E 2 B (MDL) » EMDLE 4™ #77 ¢

111# ;421 & MDLi#=0.00023 ppm (ppmv) > % % MDLE=0.188 ug-

1124 ;521 & MDLi2=0.00020 ppm (ppmv) o &= ¥ # MDLi&=0.00021 ppm (ppmv) o ¥ #ifi MDL@E=0.00020 ppm (ppmv) - % % MDLiE=0.193 pg -
w2 T RA AT
3.7 k7 AR plEAT N RS -

? i MDL#E=0.246 pge = ¥ %% MDLE=0.212 ug- = ¥ %= MDLie=0.209 ug -

# 3.5.1 LeRplTER S F AL (g ) (2/2)

PlEk BR ¥ B AR 3% % 113& B T35 4z R 114# g T35
2/4 5/9 8/12 11/12
EF A ALY ppmv 0.1 0.00019 0.00019 0.00019 0.00019 0.00019
TR TA ppmv — 0. 00020 0. 00020 0.00020 0.00020 0.00020
N i ppmv — 0.00019 0.00019 0.00019 0.00019 0.00019
B RE IFYEF ppm 1 6. 7E-03 6. 0E-03 5. 1E-02 4. 3E-02 2. 67TE-02
A0 7 A (0 o) ppm — 6. 26E-03 6. 45E-03 6. 69E-03 6. 27E-03 6. 42E-03
ZF T ARG TR ppm — 4. 44E-03 4. 58E-03 4. T4E-03 4. 44E-03 4. 55E-03
ZF 77 AE(Z T %) ppm — 3. 25E-03 3. 35E-03 3. 47TE-03 3. 25E-03 3. 33E-03
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113# ;401 & MDL#E=0.00019 ppm (ppmv) - =it ¥ # MDLie=0.00020 ppm (ppmv) - ¥ i/ MDLi=0.00019 ppm (ppmv) = % % MDLiE=0.176 pg- " MDLiz=0.235 uge = ¥ * MDLi&=0.242 pug- = ¥ % MDL@#E=0.232 pg-
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